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Q.No.1 Encircle the correct answer from the following choices. (11010)



i. How many number of ovules in maize plant? 
(a) 1 (b) 2 (c) 3 (d) 6

ii. Which of the following is an example of natural vegetative propagation in

plants? 









(a) Grafting  (b) Budding  (c) Tuber  (d)  Cutting 

iii. Which part of seed germinates to form root? 

(a) Cotylendon  (b) Plumule  (c) Radicle  (d) Testa 



iv. Which of the following is male reproductive part of flower?



(a) Carpel  (b) Sepal



 (c) Stamen





 (d) Stigma  



v. How many types of reproduction are there? 
(a) Two  (b) Three  (c) Four  (d) Five 

vi. _____contains food for embryo.   
(a) Plumule  (b) Radicle  (c) Cotyledon  (d) Testa 




vii. Which of the following develops into a fruit? 

(a) Embryo   (b) Ovary  (c) Testa 

 (d) Zygote  







viii. The sperm fuses with two polar nuclei in the ovule to form:


(a) Endosperm  (b) Diploid endosperm 
(c) Triploid endosperm  (d) Hyploid endodperm  



ix. On which part of flower, a pollen grain germinates?


(a) Stigma  



(b) Style  (c) Ovary  (d) Anther  


x. Pollen tube contains _____ male gametes.   
(a) Two  (b) Three  (c) Five  (d) Seven 

Q.No.2. Write short answers. (2612) 
(i) What is fertilization? 
(ii) What is the difference between self pollination and cross pollination?


(iii)How is seed dispersed? 
(iv)Define runners. 
(v) What is the function of fruit? 
(vi)Which processes involve during sexual reproduction in plants?

 
Q.No.3. Write long answer. (3) 
(i)  Define vegetative propagation. Explain bulb and tuber.










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